Advanced Equation Test


  - _____
I.  Multiple Choice (1 point each)



  50 pts
1._____  4x + 6 + 10x + 2 =


A.  14x2 + 8



B.  14x + 8


C.  22x





D.  22x2
2._____ 5x – (-8x) =


A.  13x





B.  3x2

C.  3x





D.  13x2
3._____  4x2 + 5x + 6 + 2x2 + 7 =


A.  6x2 + 5x + 13


B.  11x2 + 13

C.  24x2





D.  6x2 + 11x + 7

4._____ 5(7x – 9) =


A.  35x – 9




B.  35x – 45


C.  26x





D.  -10x
5.______ 4(3x + 1) + 8x =


A.  44x + 4




B.  24x


C.  20x + 4




D.  20x + 1
6.______  The solution for  4p + 8p = 78


A.  2.375




B.  5.125


C.  6.5





D.  8.25

7._____ the solution for -4k + 2k > 24


A.  k > 12




B.  k < 12


C.  k > -12




D.  k < -12

8._____ the solution for x + (-3) ≤ 10


A.  x ≥ 7





B.  x ≤ 7

C.  x ≥ 13




D.  x ≤ 13

9._____  Name the constant in the expression,





-4 + 5x + 6x2  


A.  -4






B.  5

C.  6






D.  x2
10._____ Name the coefficient in the expression,




5 + 4x2 – 6


A.  5






B.  4


C.  -6






D.  x

=________


name______________________

      100



period_____ 
date___________

11,_____  Which of the following are like terms?


A.  7y & -7y



B.  6a & 6b


C.  5 & -5x




D.  3c & -3c2 

12._____  The product of two negative numbers will be:  




 
A.  negative
B.  zero
C.  one


D.  positive
13._____  What is the solution for the equation, 






 



3x + 15 = 21
A.  5





B.  2
C.  -2





D.  -5

14._____  What is the solution for the equation,









2(4x – 6) = 28
A.  2





B.  4
C.  -4





D.  5
15.______ Which of the following numbers is

NOT an integer?

A.  ½







B.  4
C.  10






D.  0
16._____ The solution for the equation, 




  2x + 2 =  2x + 14 + 6x 
A.  2




B.  -2
C.  3.5
D.  4
17._____ The sum of  two negative numbers is: 

A.  always a negative number

B.  always a positive number

C.  always zero

D.  either a negative #, positive #, or zero

18._____Which subset of real numbers contains 
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?

A.  irrational numbers

B.  integers

C.  natural numbers 


D.  whole numbers
19._____  4-3 =

A.  
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C. 
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D.  3-4
22._____  Write 0.0000265 in scientific notation

A.  2.65 • 10-5




B. 2.65 • 105
C. 2.65 • 104




D. 2.65 • 10-4

20.______ What is the solution to the equation:

3x + 4 = 16?

A.  4







B.  -4
C.  5







D.  -5
21._____  Which expression is not equal to 9?

A.  90

B.  
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C.  
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D.  (-3)2

25.  Graph x < -8 on a number line:
23._____
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 is between what two consecutive integers?

A.  18 and 19




B.  17 and 18

B.  20 and 21




D.  19 and 20
24.______ What number is irrational?

A.  0





B. 0.12341234… 

C.  -12




D. 0.12121212…
III.  5 points each.  Show organized work to justify your answer. 

26.  3x + 11 + 6x = 65



27.  2x - 4 = 7x + 6



28.  12x +12 - 2x <  32
29.  2(5x + 2) – 8 = 64






30.   5x – 10 = -40
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